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Operation 1

Check the reservoir brake fluid level,

Brake fluid level low
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Top-up the reservoirs to the comect levels.

Operation 2

Depressurise the hydraulic systems (see
Section G2).

Insert a length of high pressure pipe fitted
with a bleed screw connection and a zero
kg/sq.cm. to 210 kg/sq.cm. (zero Ib/sg.in.
to 3000 Ib/sq.in.) pressure guage into the
accumulator bleed screw tapping of the
system being checked. Start the engine and

Carefully observe the pressure gauge.

allow it to idie at approximately 1000 r.p.m.
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Check the hydraulic pipes and units for

_ _ If warning lamps remain illuminated carry out
Rectify any leakage as necessary. Operation 2.
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Check the brake pads for wear.

Replace worn or defective brake pads.

The correct behaviour of the gauge is as
follows. The pressure gauge needle should
bounce to between 63,25 kg/sg.cm. and
70,31 kg/sq.cm. (900 Ib/sq.in. and 1000
Ib/sq.in.) either immediately, or after two or
three flicks. The pressure recorded at this
point indicates the nitrogen pressure in the
accumulator sphere.

The needle should then rise steadily, pulsing
at camshaft speed to between 168 kg/sq.cm.
and 182 kg/sg.cm. (2400 Ib/sqg.in. and

2600 Ib/sq.in.). The pressure should then fall
back and settle. This settling takes up to one
minute and should not be more than 10,5
ka/sg.cm. (150 1b/sq.in.) below cut-off
pressure. This indicates the correct build up
and cut-off of the accumulator and that the
system is functioning correctly,
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The warning lamp{s) remain on. _
The hydraulic pressure has built up normally Check the warning light circuit and rectify as

indicating a fault is in the warning lamp — necessary.
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The pressure gauge needle rises slowly from
zero, or bounces up to an initial pressure of
less than 63,25 kg."sq.cm. (900 Ib/sqg.in.)
This indicates a loss of nitrogen pressure

in the accumulator sphere, usually causing
the waming lamp{s) to illuminate after a
reduced number of brake pedal applications.

Carry out Operation 2 to check operation of
the accumulator,

_ Charge the accumulator sphere with nitrogen
H_._ .V gas to the correct pressure (see Section G7)

The warning lamp remains on or goes out but
the pressure does not build up correctly.

Carry out Operation 3
_ See Sheet 2 of 2




